Revue générale
Série 1

Exercices

Richard Pagé

& ARDXX ¥ AXX ¢ XXX % XX
HL=13+1=14 HC=13+1=14 Perdarte8 v 2 ¢ 3 #2 =7 (13 a 15HD)

& ARXX ¥ XX ¢ ARXXX % XX
HL=14+1=15 HC=14+2=16 Perdarntes v 2 ¢ 1 #2 =6 (16 a 18 HD)

& ARXXXX ¥ RX ¢ ARX & xx
HL=17+2=19 HC=17+2=19 Perdarntes v 1 ¢ 1 2 =5(194a21HD)

& ARDxx ¥ ADX ¢ RXX & XX
HL=18+1=19 HC=18+1=19 Perdare8 v 1 ¢ 2 #2 =5(19a21HD

1

AXXX 1e ? RDx

AXX ? ? RDxxx

AXXXX ? ? Rx

X ? ? RDx
? ?

2

VXX 1e ?  RDxxx

X ? ?  DVX

ADXXX ? ? Rx

ARXX Dxx
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VX 1e
Rx ?

ADXXX ?
AXXX ?

4

RDx 18

XX ?

XX ?

ARXXXX ?

5

ARXXX 14
Rx ?
XX

Rxxx

6

AXXXX 1a
RDx ?
VX ?
AXX

7

ARXXX 1a
Dx ?
XXX ?
Rxx ?
8

AXXXX 1a
Rxx ?
Dx ?
AXX

)
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RDXxxXxX
DVx

Rx

Dx

VX
AXX
ARDX
XXXX

XXX
ADX
ARXXX
XX

X

AXX
RD10xxx
VXX

Dxx
Rxx
ARDxx
AX

Rxx
AX
RVxx
XXXX
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VXXXX

AXX

10

ARXXX
Dxx
Rxx

11
AXXXX

Rxx
Dx

12
ARXXX
XX
RDx
AXX

Chevalier Grivele

)

Rx

Rxx
RD10xx
Rxx

XX
AVXXX
AX
DVxx

Rxx

RVxx
XXXX

RDxx
XXX
Rxxxx
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